10/30/2017

AA N 2R (5/5 pts)
(5/5 pts)
(5 pts)

%

Z HA) A (5 pts)

o

}ﬂ—

]

7

iy

ruzel

X

Bl
e

ato] a4 (5 pts)

S

o

WA 9 a4 AL (10 pts) 4 o]+500mm

(5 pts)
s/ B A = F
9 A4 (10 pts)

°

?;Sdl—

A
T
o

=

—~
o

Midterm (Computational Design Lab)

DME3012
Solution

1. (25 pts)
2. (45 pts)

g (5 pts)

Vehicle Structure



DME3012

Midterm (Computational Design Lab) 10/30/2017

4 2d T4 (4ps)

« RE
« 3%
1 1e+010
2 1e+010
3 le+010
4 3.88e+008
5 1e+010
6 1e+010
3. (30 pts)
HEE saze AMTE
[T ED

mazs

zmgn

e

uy

auzn (AR ME =
= ERELELL)

= SeUK 2E

E 878 G M=

YHEATRE
Eme B M Fre My Arz

& 9 ][ %= [ =8

o

H
S

dd: A4 944 Vs s
188kl &35 A (8 pts)

o

LA A&

o
X
e
iy

12k, 1A 4.19 12k, 3% 3.06

S &4 dde] B¢
AAp e A Hde] FHFol
WA A &5 Ade] A
421 oA AAAF 12}
Rrof fAFSHAL UEFH. (5 pts)

Vehicle Structure



DME3012

Midterm (Computational Design Lab) 10/30/2017

4=}, 89.8Hz

4%}, 75.9Hz

Vehicle Structure



